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3. BkK[E

FE A& B In— shape #51], shape 4 circle, 10 2%25[d] inteval=10
HA
Dim bz

Private Sub Timerl Timer()
If Shapel.Left >= Form1.ScaleWidth - Shapel.Width Then bz =1
If Shapel.Left <=0 Thenbz =0
If bz = 0 Then Shapel.Left = Shapel.Left + 10
If bz = 1 Then Shapel.Left = Shapel.Left - 10
End Sub
R bz B (bz y—Imibrd, AW s I

2. RAE
Dim i%, j%, k%
Fori=1To 10
Ifi<40ri>6Then
Print Space(20 - i);
Forj=1Toi
Print"O";
Next j
Else
Print Space(6 + i);
Fork=14-iTo1 Step -1
Print"O";
Next k
End If
Print
Next i
Fori=3To1 Step -1
Print Space(20 - i);
Forj=1Toi
Print"O";
Next j
Print
Next i
1. EL=/BF
Dim i%, j%
Print Space(20); "*"
Fori=2To9



Print Space(21 - i); "*"; Space(2 * i - 3); "*"
Next
Print Space(10);
Fori=1To 10
Print Space(1); "*";
Next
IR
Constn=15
Dim a(1 To n) As Integer
Dim i%, j%, t%
Randomize
Fori=1Ton
a(i) = Int(100 * Rnd) R 15 4 0~100 FBEATL B AN
Next
Print "HE/ ¥ RT: "
Fori=1Ton
Print a(i);
Next
Print
Fori=1Ton-1
Forj=i+1Ton
If a(j) <a(i) Then t=a(j): a(j) = a(i): a(i) =t
Next
Next
Print"HEF J5: "
Fori=1Ton
Print a(i);
Next

3. BkR[O3

FE A ERIn— shape #51A], shape 4 circle, 12§25 /d] inteval=10
8 A
Dim bz

Private Sub Timerl_Timer()
If Shapel.Left >= Form1.ScaleWidth - Shapel.Width Then bz = 1
If Shapel.Left <=0 Thenbz=0
If bz = 0 Then Shapel.Left = Shapel.Left + 10
If bz = 1 Then Shapel.Left = Shapel.Left - 10
End Sub
ERE: bz A (bz N—Iwibed, MTHWEs7 D

4. NKBNENPMEIKEL



TE BRI IN—HFR%5 labell, autosize=true, caption="Y" 7 I—i1 i} 225 [A] timerl, inteval=100
WA
Dim bz

Private Sub Timerl_Timer()
If Labell.FontSize >= 72 Thenbz =1
If Labell.FontSize <=8 Then bz =0
If bz = 0 Then Labell.FontSize = Labell.FontSize + 2
If bz = 1 Then Labell.FontSize = Labell.FontSize - 2
End Sub
5. £ VB F A HE
Dim x, y, i As Single
Cls
Scale (-15, 15)-(15, -15) " iR JLALFR &R
For i =0 To 6.28 Step 0.05
y =10 * Sin(i)
x =10 * Cos(i)
CurrentX = x
CurrentY =y
Print "*"
Next
6. HEESRBEN
B —AER, AE BN TR M sl AR, WS —TH 8 A timerl
FEG AR _EAIN—A> shape 1, WEERAZEY, 4, HERN
FEFPARRS U R
Option Explicit
Dim bz%

Private Sub Command1_Click() ‘JT#a#4H
Timerl = True
End Sub

Private Sub Command2_Click() "5 1k4%4H
Timerl = False
End Sub

Private Sub Form_Load()
Shapel.Left =0
Shapel.Top =0
Timerl = False
Timerl.Interval = 10

End Sub

Private Sub Timer1_Timer()



If Shapel.Left &gt;= Forml.ScaleWidth - Shapel.Width And Shapel.Top &It;= 0 Then

If Shapel.Top &gt;= Form1.ScaleHeight - Shapel.Height Then bz = 2
If Shapel.Left &It;=0 Then bz =3
If Shapel.Top &It;= 0 And Shapel.Left &It;= 0 Then bz =0
Select Case bz
Case 0
Shapel.Left = Shapel.Left + 10
Case 1
Shapel.Top = Shapel.Top + 10
Case 2
Shapel.Left = Shapel.Left - 10
Case 3
Shapel.Top = Shapel.Top - 10
End Select
End Sub



